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FUNCTIONS

1. If f(z) =32z —2and g(z) =2>—4, write an
expresion for each of the following functions:

(f+g)(x)

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4O9UrZ2j8hJx

2. If f(z) =3z —2and g(z) = z°> — 4, write an
expresion for each of the following functions:
(f-g)(x)
o Watch Video Solution
3. If f(z) =3z —2and g(z) =2* —4, write an

expresion for each of the following functions:

(f-9)(=x)

° Watch Video Solution



https://dl.doubtnut.com/l/_4O9UrZ2j8hJx
https://dl.doubtnut.com/l/_hrmPWk6ahw2e
https://dl.doubtnut.com/l/_2h8dS0EtM1XW

4. If f(z) =3z —2 and g(z) = z* — 4, write an
expresion for each of the following functions:
)
— |(=x
(2)o
o Watch Video Solution
5 If f(z) =3z —2 and g(z) = 2> — 4, write an

expresion for each of the following functions:

(fog)(x)

° Watch Video Solution



https://dl.doubtnut.com/l/_h80vkfFJ3jiO
https://dl.doubtnut.com/l/_popF4jwi6waa

6. If f(z) =3z —2and g(z) = z* — 4, write
expresion for each of the following functions:

(go f)(x)

an

o Watch Video Solution

7.Given f(z) = 3z + 2.Find f (z)

o Watch Video Solution

3

8. f(x) =3x + 2.Isg(z) = - the inverse of f?

o Watch Video Solution



https://dl.doubtnut.com/l/_D1o4V70ptMTU
https://dl.doubtnut.com/l/_ryRdlcvHVHEu
https://dl.doubtnut.com/l/_vEJP1VdTQQCx
https://dl.doubtnut.com/l/_oKllOAE7y4x1

9. f(x) = z*.Find f 1.

° Watch Video Solution

10. Find the inverse of f = {(1, 2), (2, 3), (3, 2)}

o Watch Video Solution

1
11. Kind th f the functi = — 2.
ind the range of the function f(z) P
° Watch Video Solution
12.f(z) = 2% and f(—2z) = (—2)° = — 2.

[ o Wiakl . \NnNdaa Caliidkiam


https://dl.doubtnut.com/l/_oKllOAE7y4x1
https://dl.doubtnut.com/l/_quiqrBzpD5VR
https://dl.doubtnut.com/l/_F4aHLCgZ0tyL
https://dl.doubtnut.com/l/_nv1LqBdJvs4A
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1 1
83.f(z) = — and f(—z) = —.
flz) = — and f(~2) = —
o Watch Video Solution
14. f(x) = sinx is odd because sin( — z) = — sinz.

&2

o View Text Solution

15. The function f is defined by
x+3 if x<1

f(z) ={ 5 . Find

x if z>1

f(=5), f(1), and f(3).



https://dl.doubtnut.com/l/_nv1LqBdJvs4A
https://dl.doubtnut.com/l/_zowR41hnVyWX
https://dl.doubtnut.com/l/_Km2aIdPuXPvB
https://dl.doubtnut.com/l/_f275lBljJOfL

l ° Watch Video Solution

16. A store that makes copies charges 25 cents per copy
per page if 50 or fewer copies of each page are made, 20
cents per copy if between 51 and 200 copies of each
page are made, and 15 cents per copy if more than 200
copies of each page are made. How would this be written

as a piecewise function?

° Watch Video Solution

Exercises



https://dl.doubtnut.com/l/_f275lBljJOfL
https://dl.doubtnut.com/l/_HVrqpbQmjDhc

1.1f {(3,2),(4,2),(3,1),(7,1),(2,3)} is to be a function, which one

of the following must be removed from the set?

A. (3,2)

B. (4,2)

C.(2,3)

D. (7,1)

Answer: A

° Watch Video Solution

2. For

f(z) = 32 + 4,g(x) =2, and h = {(1,1),(2,1), (3,2)}


https://dl.doubtnut.com/l/_BuoMd73ABk5Y
https://dl.doubtnut.com/l/_5GmoNryoA0xj

A.fis the only function

B. h is the only function

C.fand g are the only functions

D.f, g, and h are all functions

Answer: D

o Watch Video Solution

3. What value(s) must be excluded from the domain of

T+ 2
— ?
A —2

B.O


https://dl.doubtnut.com/l/_5GmoNryoA0xj
https://dl.doubtnut.com/l/_56I1nJvcFEFb

C.2

D.2 and -2

Answer: C

o Watch Video Solution

4.1f f(z) = 32% — 2z + 4, f( — 2) =

A —12
B.—4
C.—2

D. 20


https://dl.doubtnut.com/l/_56I1nJvcFEFb
https://dl.doubtnut.com/l/_6iXZc9FU7Ba8

Answer: D

° Watch Video Solution

5.If f(x) = 4z — 5 and g(z) = 3%, then f(g(2))=

A3
B.9
C. 27

D. 31

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6iXZc9FU7Ba8
https://dl.doubtnut.com/l/_FH2gN1cy8l9z
https://dl.doubtnut.com/l/_ULHq0pKpef6L

6. If f(g(x)) = 4z® — 8z and f(z) = 2> — 4, then

C.2x — 2

D. 4x

Answer: C

o Watch Video Solution

7. What value must be excluded from the domain of

f . _ 9.2 — 322 _
(E>(x) if f(x) = 3x° —4x + 1and g(z) = 32" — 3?


https://dl.doubtnut.com/l/_ULHq0pKpef6L
https://dl.doubtnut.com/l/_2aPVCskcXnGk

A0

B.1

C.3

D.both 1

Answer: D

o Watch Video Solution

8.1f g(x) = 3z + 2 and g(f(z)) = =, then f(2)=

A.O
B.1

C.2


https://dl.doubtnut.com/l/_2aPVCskcXnGk
https://dl.doubtnut.com/l/_zx1OIFldiXXX

D.8

Answer: A

o Watch Video Solution

9.f p(z) = 4= — 6 and p(a) = 0, then a=

Answer: C

[ o Wiakl . \NnNdaa Caliidkiam


https://dl.doubtnut.com/l/_zx1OIFldiXXX
https://dl.doubtnut.com/l/_35l816CBu7Oi

L —  VYvdlilll VIUCTV JVIuLiVII J

10. if f(xz) = €® and g(x) = sinz, then the value of
(fog)(v2)is

A.—0.01

B.—0.8

C.0.34

D. 2.7

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_35l816CBu7Oi
https://dl.doubtnut.com/l/_8u3uPlTw1ocn

M. If f(z) = 2z — 3, the inverse of f, f ' could be

represented by

A f 1 (z) =3z —2

1

B.f () = 2z — 3

C.f Yz) = “”52

0. M) = 227
Answer: D

° Watch Video Solution

12. If f(z) =z, the inverse of f,f !, could be

represented by


https://dl.doubtnut.com/l/_rjfF1SPEoqNn
https://dl.doubtnut.com/l/_Q0QJV5w1NnOe

B.f z) =1

C.f (=) =%

D.f M (z) =y
Answer: A

o Watch Video Solution

13. The inverse of
f= {(17 2)7 (2a 3)7 (37 4)7 (47 1)7 (57 2)} would be a

function if the domain of f is limited to

A.{1,3,5}


https://dl.doubtnut.com/l/_Q0QJV5w1NnOe
https://dl.doubtnut.com/l/_OVUJFtuhkUan

B. {1,2,3,4}

C. {1,5}

D. {1,2,4,5}

Answer: B

° View Text Solution

14. Which of the following could represent the equation

of the inverse of the graph in the figure?

Lo

Ay= —2z+1

B.y =2z +1


https://dl.doubtnut.com/l/_OVUJFtuhkUan
https://dl.doubtnut.com/l/_EoUfgetG02Mz

1
C.y:§x+1
5 _1 1

YT 9T

Answer: D

o View Text Solution

15. Which of the following relations are even?
l.y=2

I f(z) =«

m.z2+ 4> =1

A.Only |

B.Only Il and II


https://dl.doubtnut.com/l/_EoUfgetG02Mz
https://dl.doubtnut.com/l/_UrXCSN8NHSsz

C.Only Il and 1l

D.onlyland Il

Answer: D

o Watch Video Solution

16. Which of the following relations are odd?
l.y=2
lhy==

m.z2 +y> =1

A.onlyll

B.only I and Ill


https://dl.doubtnut.com/l/_UrXCSN8NHSsz
https://dl.doubtnut.com/l/_3WTLeqV8sZp8

C.only Il and Il

D. LIl and lIl

Answer: C

o Watch Video Solution

17. Which of the following relations are both odd and

even?

L z? + y2 =1

Lz —y? =0

M.z +y=0
A.only Il

B.only I and Il


https://dl.doubtnut.com/l/_3WTLeqV8sZp8
https://dl.doubtnut.com/l/_tzkfCfgJNMjw

C.onlyland il

D. only Il and 1lI

Answer: B

o View Text Solution

18. Which of the following functions is neither odd nor
even?

A.{(1,2),(4,7),-1,2),(0,4),(-4,7)}

B. {(1,2),(4,7)(-1,-2),(0,0),(-4,77)}

Cy= 23— 1

D.y:m2—1


https://dl.doubtnut.com/l/_tzkfCfgJNMjw
https://dl.doubtnut.com/l/_jTYmHlxJNhlk

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jTYmHlxJNhlk

